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Below are the correct match between List-I and List-II :
Skin Cancer               -     Ultraviolet Light
Noise Pollution         -     Decibel
Global Warming        -     Carbon dioxide
Ozone Hole               -     Chlorofluorocarbons

D

Pollution from coal combustion thermal power plants is caused 
by the emission of gases such as carbon dioxide, nitrogen 
oxides and sulphur dioxide into the air. Hence (d) is the correct 
answer. 

D

D

A

C

Water pollution is a major environmental issue in India. The 
largest source of water pollution in India is untreated sewage. 
The groundwater contains arsenic, fluoride and uranium 
consumed by nearly 85% of the population. A substantial 
quantity of Uranium had been found in the tested sample of 
groundwater in Punjab. 

C

D

B

A

D

A

D

D

The correctly matched lists are as follows :
Plague              -           Bacteria
AIDS               -           Virus
Baldness          -           Fungus
Malaria            -           Protozoa
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B

The correctly matched lists are as follows :
Haemophilia        -       Genetic disease
Diabetes               -        Hormonal disorder
Rickets                 -        Deficiency disease
Ringworm            -        fungal infection

B

C

Cancer is caused by the uncontrolled multiplication of cells
and by the excess consumption of nutrients from them
while other normal cells of body do not get proper
nutrients. Finally the normal cells of body end slowly and
death at the last.

D

In the above question all the given options are correctly 
matched except option (d). A dental disease called fluorosis 
occurs due to excess of fluoride ion. Enamel gets affected by 
this disease and the tooth get yellowise in colour.

A

A

D

B

The correctly matched lists are as follows :
     List-I                                         List-II
Acid present in Vinegar            -     Acetic acid
Souring of milk                          -     Lactic acid 
Compound present in bones     -     Calcium phosphate
Acid present in Gastric juices   -     Hydrochloric acid

The cuckoo never makes its nest. Lizard can give up its tail 
with the mere touch and tail again regenerate because it has 
horizontal division in their vertebrals. Chipmpanzee is said to 
be most wisest animal and blue whale is the largest living 
creature.

C

Barium is a good absorber of X-rays and this helps the stomach 
to appear clearly in contrast with the other regions in the 
picture. So it's suitable form is a administered to patients before 
an X-ray examination of the stomach. It is used to diagnose 
abnormalities of the gastrointestinal tract, such as tumours, 
ulcers, etc.

D

C

D

A

C

A

B

Both Assertion and the Reason are correct but the Reason does 
not explain the Assertion, hence option (b) is correct.

C

A

C

D

D

A

A

Golak Nath case was decided on 27 February 1967. 
Keshavanand Bharti Case was decided in 1973. The 
constitution (Twenty-Fourth Amendment) Act, 1971 was 
passed on 5 November 1971. The Constitution (Forty second 
Amendment) Act, 1976 was passed in 1976. Hence, correct 
answer is option (a).

D

A

Most of the population of the Egypt benefit from fertile land 
and water sources of the Nile river. Therefore, Egypt is called 
the gift of the Nile. The region through which river Nile flows 
is like an oasis in the desert.

A

A

Tropical hot deserts are often found in the region of trade wind 
band between 15° to 30° South or North of Equator in the 
western side of continents. Therefore statement 1 is correct. In 
India, Eastern Himalayan region receives more rain from the 
southwest winds coming from the Bay of Bengal. Therefore 
statement 2 is wrong.

C

D

C

B

C

B

The deficiency of iodine causes goitre in which the neck 
becomes thicker due to an enlarged thyroid gland. Anaemia is 
caused by iron deficiency. Vitamin A and B are useful to 
prevent night blindness and beri-beri respectively.

B

A
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C

The descending order of the given Indian States according to 
geographical area are as follows : Rajasthan (342,239 km2). 
Maharashtra (307,713km2), Karnataka (191,791 km2) and 
Tamil Nadu (130,060 km2).

A

C

Shipki La is a mountain pass and border post on the Indo-
China border. It is located in Kinnaur district of Himachal 
Pradesh not in Jammu and Kashmir. Rest of the passes are 
correctly matched with their States.

A

The Swadeshi and Boycott were adopted as methods of struggle 
for the first time during the agitation against the partition of 
Bengal. It was an economic strategy aimed at the British 
Empire against the partition of Bengal by Lord Curzon on 16 
October. 1905.

D

Dadabhai Naoroji presided over INC session for three times in 
1886 AD, 1893 AD and in 1906 AD.

C

The Champaran Satyagraha of 1917 was the first Satyagraha of 
Mahatma Gandhi. One of the very significant aspects of the 
Champaran Satyagraha was that it joined peasant unrest to 
India's national Movement.

B

Mahatma Gandhi suspended the Non-Cooperation Movement 
in 1922, after the violent incident of Chauri-Chaura. The 
suspension of this movement was strongly opposed by C.R. 
Das and Motilal Nehru. Thus, both assertion and reason are 
correct, but Reason (R) is not the correct explanation of 
Assertion (A).

D

The correct chronological order of the events is a follows-
    Events   :    Date
Gandhi-Irwin Pact - March 5, 1931
Execution of Bhagat Singh - March 23, 1931
Karachi Session of Indian National Congress - March 29-31, 
1931
Poona Pact - September 24, 1932

B

C

Assertion (A) is true, but reason (R) is false. Rashtriya 
Swayamsevak Sangh (RSS) was isolated from Quit India 
Movement, 1942. From 1940 to the end of colonial power in 
1947, did not take part in any National Movement.

A

A

D

The correctly matched list is a follows-
Morley-Minto Reform (1909) - Communal Electorates
Simon Commission (1928) - Nation Wide Movement
Chauri-Chaura incident (1922) - Withdrawal of Non-
cooperation Movement
Dandi March (1930) - Illegal manufacturing of Salt

C

The correctly matched list is as follows -
Macdonald - Communal Award (1932)
Linlithgow - August Offer (1940)
Dalhousie - Doctrine of Lapse
Chelmsford - Dyarchy (Act of 1919, Enforcement of dyarchy 
system in the provinces)

A

B

B

A

Lahore Session of Congress was held in December, 1929 and 
Gandhi-Irwin pact was signed on 5 march, 1931 while 
execution of Bhagat Singh, Sukhdev and Rajguru happened 
just 3 days before (23 March, 1931) Karachi session of 
Congress (29-31 March, 1931). This correct answer is option 

A

A

Tribhanga (tri-bent pose) is a standing body position or stance 
used in the traditional Indian sculpture, art and Indian classical 
dance form. Tribhangs is literally meaning three parts break, 
consists of three bends in the bdoy; at the neck, waist and knee 
which gives it a gentle 'S' shape.

Garo, Khasi, Jaintia hills are parts of Meghalaya Plateau 
whereas Bhuban Hills is part of Mizo Hills.
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Å"eh; 'kfä la;a=ks esa dks;yk ngu ds QyLo:i dkcZu 
MkbvkWDlkbM] ukbVªkstu ds vkWDlkbMksa] lYQj ds vkWDlkbMksa] 
Dykjks¶yksjksdkcZu rFkk ok;qtfur vdkcZfud d.kksa tSls ¶ykbZ 
,s'k] dkfy[k bR;kfn dk mRltZu gksrk gSA

D

D

A

C

C

vEy o"kkZ og ifjfLFkfr gS] ftlesa ok;q esa mifLFkr
iznw"k.kdkjh jlk;uksa dh izfrfØ;k ls izkÑfrd o"kkZ dk ty
vEyh; gks tkrk gSA o"kkZ ds ty dks vEyh; cukus ds
fy, eq[;r% lYQj MkbvkWDlkbM (SO2) ukbVªkstu
MkbvkWDlkbM (NO2) rFkk ukbVªl vkWDlkbM (N2O)

mÙkjnk;h gSA

D

B

A

D

ih;w"k ¼fiV~;wVjh½ xzafFk efLr"d esa gkbiksFkSysel ds uhps fLFkr 
,d NksVh var%lzkoh xzafFk gksrh gSA

A

fo"kk.kq vdksf'kdh; vfrlw{e tho gSa] tks dsoy thfor
dksf'kdk esa gh oa'k o`f) dj ldrs gSaA 'kjhj ds ckgj rks
;s èr&leku gksrs gSaA ,d fc"kk.kq fcuk fdlh ltho ek/;e
ds iqu#Riknu ugha dj ldrk gSA laidZ }kjk] ok;q }kjk]
Hkkstu ,oa ty }kjk rFkk dhVksa }kjk fo"kk.kqvksa dk lapj.k
gksrk gSA

D

D
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B

lqesfyr Øe bl izdj gS %
gheksQhfy;k     &     vuqokaf'kd jksx
Mk;fcVht      &     gkWeksZu dh xM+cMh
fjdsV~l         &     ghurktU; jksx
fjaxokeZ         &     dodh laØe.k

B

C

D

A

A

D

B

lgh lqesyu gS&
fljdk esa mifLFkr vEy          ,lhfVd vEy
nw/k dk [kêk gksuk               ySfDVd vEy
gfì;ksa esa mifLFkr ;kSfxd         dSfY'k;e QkWLQsV
vkek'k; jl esa mifLFkr vEy      gkbMªksDyksfjd vEy

dks;y viuk ?kksalyk dHkh ugha cukrh] fNidyh Nwus ek=
ij gh viuh iwaN dks R;kx ldrh gS rFkk mlesa dVh iwaN
dh iqu% mRifr gks tkrh gS] D;ksafd iwaN dh d'ks#dkvksa esa
vuqizLFk foHkktu gksrk gSA lokZf/kd cqf)eku tkuoj
fpEiSath ekuk tkrk gS rFkk lcls fo'kky tho uhyh Ogsy gSA

C

csfj;e ,Dl&fdj.kksa dk vPNk vo'kks"kd (Absorbant) gS
vkSj blls fp= esa isV dks vU; {ks=ksa dh rqyuk esa fn[kus esa 
lgk;rk feyrh gSA vr% bls ,d miq;ä ek=k esa jksfx;ksa
dks isV ds ,Dl&fdj.k ijh{k.k ls iwoZ f[kyk;k tkrk gSA

D

C

D

A

C

lgh lqesy bl izdkj gS %
jkT;ksa esa fo/kkf;dk dk xBu & vuqPNsn 168
fo/kkulHkk esa v/;{k rFkk mik/;{k & vuqPNsn 178
lnL;ksa ds osru&HkÙks & vuqPNsn 195
^/ku fo/ks;d* (Money Bills) dh ifjHkk"kk & vuqPNsn 199

A

B

dFku vkSj dkj.k nksuksa Lora= dFku ds :i esa lgh gSa fdarq 
dkj.k] dFku dh O;k[;k ugha dj jgk gSA

C

A

C

D

D

A

A

D

A

uhy unh dh mitkÅ feêh vkSj i;kZIr ty lzksr ls felz
dh vf/kdka'k vkcknh ykHkkfUor gksrh gS] vr% felz dh uhy
unh dk migkj dgk tkrk gSA uhy unh ftu {ks=ksa ls
 izokfgr gksrh gS] og {ks= bl e#LFky esa e#|ku 
¼u[kfyLrku½ ds leku gSA

A

A

m".kdfVca/kh; e#LFky izk;% egk}hiksa ds if'pe esa Hkwe/; js[kk ls 
15° ls 30° mÙkj ;k nf{k.k v{kka'kksa ds e/; esa O;kikfjd iou 
iêh esa ik, tkrs gSaA vr% dFku 1 lgh gSA Hkkjr esa iwohZ fgeky;
{ks= nf{k.k&if'pe ekulwuh iouksa ds caxky dh [kkM+h dh 'kk[kk 
ls vf/kd o"kkZ izkIr djrk gSA vr% dFku 2 xyr gSA

C

D

Hkkjr esa jkT; ljdkjksa dks xSj&dks;yk [knkuksa dh uhykeh dk 
vf/kdkj ugha gSA vka/kz izns'k ,oa >kj[kaM esa lksus dh [knkus gSaA 
jktLFkku esa ykSg v;Ld dh [knkusa gSaA

C

B

C

B

lgh lqesyu bl izdkj gS %
jDrkYirk ¼,uhfe;k½      &   yksg&rRo dh deh
xyk ?kksaVw ¼Xok;Vj½       &   vk;ksMhu dh deh
jrkSa/kh ¼ukbV&CykbaMusl½   &   foVkfeu ^,* dh deh
csjh&cSjh                &   foVkfeu ^ch* dh deh
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C

jktLFkku dk e#{ks= fo'o dk lcls ?kuk clk e#LFky ¼83 
O;fä@oxZ fdeh-½ gSA ;g vuqekur% 10]000 o"kZ iqjkuk gSA ;gk 
dsoy 40 ls 60 izfr'kr {ks= gh Ñf"k gsrq mi;qä gSA flapkbZ 
lqfo/kkvksa esa fodkl ds QyLo:i 'kq) cks, x, {ks= esa o`f) ds 
dkj.k pkjkxkg {ks= ds foLrkj ij dqizHkko iM+k gSA

C

A

Hkqou igkfM+;ka fetks fgYl dk Hkkx gSa] tks iwoksZÙkj fgeky;
dk vax gSa] tcfd xkjks] [kklh vkSj t;fUr;k igkfM+;ka 
es?kky; iBkj ds Hkkx gSaA

C

A

D

C

B

egkRek xka/kh }kjk Qjojh] 1922 esa vlg;ksx vkanksyu
LFkfxr djus dk dkj.k pkSjh&pkSjk dh fgald ?kVuk FkhA
lkFk gh lh-vkj- nkl ,oa eksrhyky usg: }kjk vlg;ksx
vkanksyu ds LFkxu dk dM+k fojks/k fd;k x;k FkkA bl
izdkj] dFku ,oa dkj.k nksuksa lgh gSa] ijarq dkj.k] dFku
dh lgh O;k[;k ugha gSA

iz'uxr ?kVukvksa dk lgh dkykuqØe bl izdkj gS&
?kVuk,a  &  dkykuqØe
xka/kh&bfoZu le>kSrk & 5 ekpZ] 1931
Hkxr flag dks Qkalh &  23 ekpZ] 1931
Hkkjrh; jk"Vªh; dkaxzsl dk djkph vf/kos'ku &  29 ls 31 ekpZ] 
1931
iwuk le>kSrk  &  24 flracj] 1932

D

B

C

(A) lR; gS] fdarq dkj.k (R) vlR; gSA jk"Vªh; Lo;a lsod
la?k 1942 ds Hkkjr NksM+ks vkanksyu ls i`Fkd jgkA o"kZ 1940
ls ysdj fons'kh lÙkk ds 1947 esa lekIr gksus rd ds fdlh
Hkh jk"Vªh; vkanksyu esa la?k dh dksbZ Hkwfedk ugha FkhA

A

A

D

C

lgh lqesyu bl izdkj gS&
eSDMksukYM & dE;quy vokZMZ ¼1932½
fyufyFkxks & vxLr vkWQj ¼1940½
MygkSth   & MkWfDVªu vkWQ ySIl ¼O;ixr fl)kar½
psElQksMZ & MkbvkdhZ ¼1919 dk vf/kfu;e&izkarksa esa }S/k 'kklu 
ykxw½

A

lgh lqesyu bl izdkj gS&
enu eksgu ekyoh; & fganw fo'ofo|ky; ds laLFkkid
eksrhyky usg: & Lojkt ikVhZ dk vU; yksxksa ds lkFk xBu 
¼1923½
Jherh ,uh cslsaV & gkse:y yh dh laLFkkid ¼1916½
Xksiky Ñ".k xks[kys & losZUV~l vkWQ bafM;k lkslkbVh dh LFkkiuk 
¼1905½

B

B

A

dkaxzsl dk ykgkSj vf/kos'ku fnlacj] 1929 esa rFkk xka/kh&bfoZu 
le>kSrk 5 ekpZ] 1931 dks gqvk Fkk] tcfd dkaxzsl dk djkph 
vf/kos'ku 29&31 ekpZ] 1931 dks rFkk Hkxr flag] lq[knso vkSj 
jktxq# dks 23 ekpZ] 1931 dks Qkalh nh xbZ FkhA

A

A

u`R; ,oa ukV~; dyk dh ^f=Hkax* eqnzk esa ,d ikao eksM+k
tkrk gS vkSj nsg FkksM+h fdUrq foijhr fn'kk esa dfV ,oa
xzhkok ij oØ dh tkrh gSA xnZu] dej ,oa ?kqVus dks
vaxzsth ds ,d ,l v{kj ds :i esa leaftr fd;k tkrk
gSA vksfMlh u`R; ds urZd vDlj bl Hkafxek dk vuqlj.k
djrs gSaA

fuEufyf[kr jkT;ksa dk {ks=Qy ds vuqlkj ?kVrk gqvk Øe bl 
izdkj gS&
jktLFkku        &    3]42]239 oxZ fdeh-
egkjk"Vª         &    3]07]713 oxZ fdeh-
dukZVd         &    1]91]793 oxZ fdeh-
rfeyukMq        &    1]30]060 oxZ fdeh-
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